
Multiply by Negative Powers of Ten (F)Find each product.
72 × 0.1 = 95 × 0.1 =
74 × 0.01 = 51 × 0.01 =
5 × 0.01 = 47 × 0.1 =
57 × 0.001 = 12 × 0.1 =
41 × 0.01 = 44 × 0.01 =
42 × 0.01 = 70 × 0.01 =
25 × 0.1 = 11 × 0.001 =
27 × 0.1 = 9 × 0.01 =
90 × 0.01 = 40 × 0.001 =
62 × 0.001 = 61 × 0.01 =
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Multiply by Negative Powers of Ten (F) AnswersFind each product.
72 × 0.1 = 7.2 95 × 0.1 = 9.5
74 × 0.01 = 0.74 51 × 0.01 = 0.51
5 × 0.01 = 0.05 47 × 0.1 = 4.7
57 × 0.001 = 0.057 12 × 0.1 = 1.2
41 × 0.01 = 0.41 44 × 0.01 = 0.44
42 × 0.01 = 0.42 70 × 0.01 = 0.7
25 × 0.1 = 2.5 11 × 0.001 = 0.011
27 × 0.1 = 2.7 9 × 0.01 = 0.09
90 × 0.01 = 0.9 40 × 0.001 = 0.04
62 × 0.001 = 0.062 61 × 0.01 = 0.61
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